
Comparing Temperatures on Thermometers

S1

Read the temperatures on each pair of thermometers and check the

correct observation. 
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A reads a lower temperature than B.

B reads a lower temperature than A.

B reads a higher temperature than A.

B reads a lower temperature than A.

A reads a higher temperature than B.

B reads a higher temperature than A.
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4) 5) 6)

A reads a higher temperature than B.

B reads a higher temperature than A.

B reads a lower temperature than A.

B reads a higher temperature than A.

A reads a higher temperature than B.

A reads a lower temperature than B.
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